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(1) V5x+/3 ZFHE LRIV,

(2) Va2 ++7 ZHE LRIV,

(38) 3vV6xva DBITEK LRIV,

(4) 43 +5V3 ZEFE LA I,

(5) 74/5—=2V5 ZFHE LS,
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(1) (x+y)(x—2y+3)

(2) (x+3)(x+5)

(3 (x—7)?
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(1) ax + 3ay + 6az (1) x2=36

(2) x?—12x+35

4) 7x*-21=0

(3) a*—64

(5) (x+2)>=13
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(1) V21 x+/3 ZEELARE W,

(2) V72 =6 BHE LRV,
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(1) V48 ++/27

(2) V128 —+/50

(3) 7V3 —+48 ++/12
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(5) V6(V/10 + 2v5)



WO R L7z S0,

Bx+1)3x—4)

(6x — 7y)?

(8—=3x)(3x +8)
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x? + 5xy + 4y*

%xz + 4xy + 12y?
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ax? —7ax + 12a

ab? — 4a
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(1) x(x—15)=0 4) x24+6x+9=0

(2) (x=3)2x+5) =0 (5) x?+5x=14

(3) 3x?4+4x=0 6) 3x2—6x—72=0
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x248x+5=0

3x2 —6x—4=0

x2-8x—-1=0

5x24+6x—8=0

3x2 —17x+20=0
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(VE+V3)(VE-V3) #atH LA S,

(1+V3-v2)" #ZaEELAE,

(3-vZ) = (3-2V5)(3+2V5)
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(x+2)2—-(x+2)(x-3)

(4x —3)2 = (x—3)(x +3)

(x+y+4)>
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(1) (@a+2)?*+a*?—-(a+1)?-a-5 =K
L AP S YA

(2) (x+4)*+7(x+4)—18 ZREHML
A YAN

(38) x*2—16y*+6x+9 ZKRELM LS
AN

(4) 76% —24% ZHBE LR EV,
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(1) (x+3)(x —2) =2(x +3)* X+y+3z=12
(1) {x—y+z=2
3x+3y+2z=15

2) (x—=52—-7(x—=5)+12=0

4x+y—3z=7
(20 { =5y +3z=13
z—3x+4y =-16

B) (x+2)2+x—18=2(x+2)(x—2)







